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SECTION-II
MATHEMATICS

SECTION-II
T

26. Find the length of side of a square, if the length of diagonal is 13cm.
26. VE fEmven wwist weft 13 W weewm mem argen o fad samr
(1) 12 cm (2) 6.542cm (3) 134J2cm (4) 13 cm. 1

() 12 s (2) 6.5./2 5t (3) 132 % (4) 13 7=

27. 2.7% of 4560=? [choose two correct options)
27. 4560 ¥ 279 - fFE@7? (2m awpF waa faae)

(1) 12312 x 102 (2) 123.12
(1) 12312 » 102 (2) 123.12
(3) 12.312 (4) 12312 x 107 .
(3) 12312 4) 12312 x 107
28. A fruit seller purchased 50 dozen bananas at Rs. 40 per dozen and sold them . . . rl IR h s el
all at Rs. 52 per dozen. What was his profit percentage? 28, "R TN 40 TR T W N S0 SR A SR SR
52 93 TEA W wiar fawe mo e fagewe dww e fesl weny
(1) 26% (2) 30% (3) 32% (4) 28%
(1) 26% (2) 30% (3) 32% (4) 28%
29. A rope of length 420m is cut down at 6 places at same distance. Then what ) L .
29. 420 WE @EME UE 7 6 ADH

is the length of each piece in cm?
faedt Hferize a2

(1) 7000 2 70 3) 700 4) 6000
(3) ( (1) 7000 (2) 70 (3) 700 (4) 6000
30. Which of the following statement is not true? [choose two correct option] . o
] 30, A@I@YHR Aqgw faum wwE?
(1) The diagonals of a rhombus bisect cach other. (% s9F A )
(2) The diagonals of a rhombus are perpendicular to cach other. (1) FAg S e .
: 3 REE &Y S93EOT EAIUGIG]

(3) All angles of rhombus are congruent. (2) e T e p—

- M_ﬂm(— "= LU o = ST
(4) The diagonals of a rhombus are congruent. (3) A HEEY W W ey sea

HpiNHd §9 HE THE] AT

(4) T SrEEE

SPACE FOR ROUGH WORK
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31. A side of cube is 12cm; Such three solid cubes are melted t0 form a cuboid.

If the base area
cuboid? [choose

(1) 36cm
(3) 12cm

of the cuboid is 144 sq.cm then what is the height of that
two correct option]

(2) 0.36m

(4) 0.12m

32. Which of the following statement is correct?

(1) The rational

(2) The rational

(3) The rational

(4) The number

43 \ .
number 20 ison the left side of zero, on the number line.

-17 . . "
number Tio ison the left side of zero ,on the number line.

27 5 G i
number 29 15 0n the right side of zero on the number line.

% and we.o on the same side of zero, on the number line.

33. The number of boys in 8th standard in the school are less by 10 than twice

the number of girls. If the total number of students in the class is 71, then find
the number of boys?

(1) 44
(3) 54

2) 61
(4) 64

34. Which polynomial should be added in 2x° — 3x + 1 to get the polynomial

3x% + 5x + 17 .
(1) 285+ 8 (2) —2x5 — 8x — 3x2
(3) 2x° - 8 4) -2x5 + 8x + 3x2
SPACE FOR ROUGH WORK
0111/ Marathi Set-A 10 of 32 ! P.T.O.

31

(A g% v e
(1) 36 4
(3) 0.36 Tt

UHE A A 12 el R oW ae §W R famren vw
N fEwEid=n @ e 144 W eim W e feE

(2) 12 9
(4) 0.12 .

32, WE@THE FgE AR Fom?

43
(1) 20
@ T
27
(3) 29

4) =2 afr 2 = =

3 7

33, T YSdle o § A1 oW el wen geien "Eien 3uiadal 10 A FE AR
o affdie vwwn fandi den 71 #Ea 9@ g Hen fEE?

(1) 44
. (3) 54

34, 26° - 3x + 1 W AZTER FOE G

@) 61
(4) 64

@ 3x2 + Sx + 1 T AT

>

foee?
1) 2x° + 8x (2) - 2x — 8x — 3x%
(3) 2x° - 8x 4) - 2x° — 8x + 3%,
AT FAEE] Tad
0111/ Marathi Set-A 11 0f 32 i P.T.0.
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35. Few chocolates are there in a bag. If these chocolates are distributed equally to
12 children then 8 chocolates remain and if equally distributed to 14 children
then 10 chocolates remain. Then how many chocolates are there in the bag?

(1) 30 (2) 28
3) 80 4) 84
36. If the length of one diagonal of rhombus having side 25 cm, is 14 cm then
what will be the length of other diagonal?
(1) 48 cm (2) 14 cm
(3) 25 cm 4) 31 cm

37. Balbir Singh purchased a machine 2 years ago for Rs.62500. If the value of

35, TH fvEid I A RA. o Medl 12 Yo Wels! SRed deedd § Tl

IWE @ Tyl wHE s fedl T R ?
() 30 2) 28
(3) 80 4) 84

36, 25 A a9 ST §UYS GiGMAeAl Th HUNE ol 14 T S IEA

Fut Siel B S@T? .
(1) 48 @t . (2) 14 @t
(3) 25 9t (4) 31 9L

Scanned with CamScanner

i : ‘ 37. TEERET TF 95 2 qUIGE 62500 TUAI W Ha. dE fHEG <@ 8%
machine decreases by 8% per year, then what will be the value of the machine . . )
today? Ry _ . F A WG W A FAE [HAd I HE FES?

(1) 53900 . (2) 52900 &
(3) 52800 . (4) 52700 =.

(1) Rs. 53,900
(3) Rs. 52,800

(2) Rs. 52,900
(4) Rs. 52,700

38. The measure of an inscribed angle of circle is 65°, then what will be the 28, mmm._m,._d TH e FEE AN 650 e W W %@g,ﬁa@wﬂ =l
measure of central formed by intercepted arc of that inscribed angle? SHA A " fRd?

(1) 65° (2) 120° 1) o5° . (2) 120°

@Gon @ umwo (3) 130° @ ummo

. : . . ; 39, TH THMER HAAA oo fHmieR 8% T2 0. TN Th SR 4600 F99/@ Tt
39. One shopkeeper gives 8% discount on printed price of camera, if he sold the w W I B fEEd R

camera for Rs. 4600 then what is the printed price of camera?
1) 5000 =. 2 3
(1) Rs. 5000 @) Rs. 4592 W (2) 4592 =
3) 4608 %. 4) 4 <.
(3) Rs. 4608 @) Rs. 4000 ® (4) 4000
SPACE FOR ROUGH WORK = - |
0111/ Marathi Set-A 12 0f 32 T PTO. 0111/ Marathi Set-A 13 of 32 P.T.0.
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. ius 21
40. What is the cost of fencing the circular garden of radiu

; 2
of wire, if the wire cost Rs. 60 per m-

(1) Rs. 2,3760 (2) Rs. 23,740
(3) Rs. 22,760 (4) Rs. 22,740

41. The ratio of measure of complementary angle of onc E._mﬁ w1 Can
supplementary angle is 2 : 5, then what will be the ratio of tha
supplementary angle?
(H 1:10 @ 1:5

42, If each side of the equilateral triangle is 22cm, then what is
triangle?
(1) 66 sq. cm (2) 121 sq. cm
(3) 12043 sq. cm 4) 121.3sq. cm

m with three rounds

th its measure of

gle with its

the area of that

43. Arpita scored 20% marks less than Ajay, then how many % marks Ajay scored

more than Arpita?
(1) 25% 2) 20%
3) 5% _ 4) 10%

44. 105x 105+ 15%x 105+7.5% q.mn

?
10.5+7.5
(1) 18 2) 17
3) 3 @) 15
SPACE FOR ROUGH WORK
0111/ Marathi Set-A 14 of 32

P.T.O.

40, T FEHER AN B 21 WX SR W AndEd aRd 3 Ish HO e
wder 60 A WA fER @ dga?

(1) 23760 TMA (2) 23740 T3
(3) 22760 T (4) 227400 T93.

a;.ﬁﬂﬂﬂﬂmﬂﬁﬂﬂﬂﬂﬂnﬂﬁgﬂﬂjﬂﬂiwﬂ@@%u;mﬁw
W FAR EHEART e o fadt?
(1) 1 : 10 ' Y1 :5
(33 :10 “4) 1 15

42, mﬁ.ﬁmﬂ@ﬂs@ﬂﬂﬂ@ﬁgﬁdﬂaﬂ_% e faRdi?
(1) 66 =ras (2) 121 <&
(3) 12043 = (4) 1213 =&y

au.gﬂﬁ%ﬁpogﬁiw%%g%ﬁﬂ%mﬁms%

Treore?
(1) 25% (2) 20%
(3) 5% (4) 10%

44, 10.5x 105+ 15% 10.5+7.5%x7.5 — fedl?

10.5+7.5
) 18 @y 17
3 3 @) 15
FoAl HUTHG e
0111/ Marathi Set-A
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4 b s - — 3 - (<
45. The difference of the sum of prime numbers and sum -of noavc.v:n M__””Hoﬂw 45, 11 9 20 TSN YB WeAH AW A FIW I wde FEE
in between 11 to 20 is completely divisible by which of the following n ! i wen deAr fah wm e
(A) 2 ®)5 ©)7 (D) 13 () 2 @s @7 @13
(1) A and B (2) B and C RO T ) ‘a a'®w" A
(3) Cand D (4) Aand D G) ‘s a ‘s 3 4) ‘&’ 3 '8’ A
46. In fig. line AB || line CD and line PR is their transversal. If we draw angle _ 46, VremiiG FEAE M AB|| T CD A ™ opr @ SRE L R ,ﬁ..ww
bisector of both pairs of alternative angle then [J PQRS is formed, Name the S AR A RS S Fomg =@ O pQRS BRI
type of O PQRS. w3
A w\ B
1
S

(1) Right angle azmai_mnnna (1) FEEA HFRA

(2) Kite (2) "an
(3) Square (3) <™
(4) Trapezium (4) BECEE LR

firdragen A A T aEa 9 5000 W fRA SW
47. The diameter of wheel of minibus is 0.7m, the find the distance covered by the 47, TH 4 0.7 . oE T

wheel in 5000 rotation. FHUA?
(1) 14 km (2) 12 km (1) 14 f&ft (2) 12 f&d
i 4) 11 f& @
(3) 10 km 4 11 km (3) 10 fomit (
SPACE FOR ROUGH WORK FoAT FHHEET W
0111/ Marathi Set-A ; 17 of 32 P.T.O.
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48. The measure of an angle is 140°, then which of the following statement is not
true?

(1) Can draw its complementary angle.
(2) Can draw its supplementary angle.
(3) Can draw its opposite angle.

(4) Can draw its linear pair angle.

49. The co-ordinate of point P is % on the aumber line. The distance between
point P and Q is 4 then which is the co-ordinate of point Q? [choose two correct
options]

5 4
1 43 ) 35
5 1
@ 43 | @ -5

50. By melting of a solid cuboid of length 16cm, breadth 11cm, height 10cm, how
many solid coins of 0.2cm thick and 2cm diameter can be formed?

(1) 2200
(3) 2600

(2) 2400
(4) 2800

S1. The curved surface area of cone is 188.4 8q. cm. The radius of its base is 6

cm, then what is the perpendicular height of the cone? (n = 3.14)

(1) 6 cm (2) 8 cm
(3) 10 cm 4) 314 cm
SPACE FOR ROUGH WORK
0111/ Marathi Set-A

18 of 32
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48, TH HHANE WY 140° IR W TASTHR RV faum stoe e

~J

(1) A= Hifeh Fea e
(2) T HHA Fled AE@.
vaﬂ_@ﬂﬂuﬁgﬁﬂ
(4) T WA AEfT TR Fea A

A@.ﬁﬂn@ﬂmﬂﬁﬂmﬁ%ﬁawmcﬂﬁ%@ﬁﬂ$£@dﬂomﬂy
s &2 (R sge vl fee)

5 4
1) Lm 2 uo

5 1
(€)) »m (C))] )

50. 16 Wl =9, 11 ¥W w3 9 10 AW 39 TN g wla Fewt=d faqzgd o.

2 U S | 2 Uil oNH S AIvareAl SR fRdl Sl 9O il Jdie?
(1) 2200 (2) 2400
(3) 2600 (4) 2800

51, TH ViHD THYETS 188.4 TNAH AR A G oA 6 Sl SEedrd @ Yid
AR fRmd? (n=3.14 =0).

(1) 6 &t (2) 8 Tt
(3) 10 9™ (4) 3.14 9
oAl FIHTHIEY e
0111/ Marathi Set-A
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52. 512417 4 6448 = 2 [choose two correct options] . . .
52, 51217 « 6ax = fEft? (= s wam e

(1 2% @) -8x° .
(1) 2% (2) -8xY
(3) -2%° (4) 8¢
(3) -2%* (4) 8xY
53. The average age of boys in the class is 15.5 years, while girls average age is
16.5 years. The average age of total students of the class is 16 years. If there §3, U@l e Yerata wefl ag 5.5 49 AR e T wa 165 91 4. qmid
are 30 boys in class then find the number of girls in class. 30 {FN A Hd famerton ward woail 16 A ww T @ antd fEd g aea?
1 15 2) 16 (1) 15 2) 16
3) 30
3) 4) 60 (3) 30 (4) 60
54. The number 3 * 6 i igit at place of . . : . : ) =
. (<] 6 is completely divisible by 3 and the digit at place o 5. 396 W ToM 3 & Mt W wn sdT st ww oiw m (5] Y g
is greater than 1 by the digit at place of [*], then find the digit at place of R .. ) .
* 9 G105 B €8 EE A A3 (B 11 5 1 61 B © ™ 02 (2 4
1 @ 2 (1 ) 2
@) o @ 9 3) 6 @ 9
55. What is the sum of additive inverse of (7a + 2b + ¢) and additive inverse of 55. (Ta +2b+¢) ¥l A 75 AW (Sa + 2b - 5c) AR AR = AR AGA fEd@?

(5a + 2b - 5¢)?
(1) -4QBa + b - ¢)

(1) 4B@a + b - ©
(2) ~43a - b - ¢)
(2) 4@Ba-b -0
3 4Ba - b - ¢
3) 4Ba-b -0 (3) a-b-c)
4) 4Ba + b - ©) (4) 43a + b - ¢)

E FOR J W
SPACE FOR ROUGH WORK ! FT FRTEE
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B v1.96 + v2.89 - /2.25 -
. J0.00000256 ' s6, V196 + V289 - V225 _ .
/0.00000256
(1) 103 (2) 102
(1 10? () 102
(3) 10! (4) 10? I
(3) 10 @) 102
57. Karan has same number of notes of Rs. 20 and Rs. 50. He has Rs. 4900 in . ;
total, then find the total number of notes he has? 57. FES S 20 T ey ﬁag TIEArd 50 WA A2 e,
THIT 4900 T FRA R ARSI THET ikt won frd?
1) 70 )
(@)) (2) 35 (H 70 2) 35
3) 105
3) 4 140 i (3) 105 4) 140

58. The area of a square is 5.29 5q. cm, then what is its perimeter? 58, UH HREMR T 529 S em. W = <t i fdt?
(1) 8.2 cm ) 9.2 sq.cm ‘, (1) 82 ¥ (2) 9.2 <
(3) 23 cm 4 92 c¢m _ (3) 2.3 %t (4) 9.2 4.

,“

59. A cylindrical tank of base radius 21cm contains water. In that water, a metal ‘ 59. T gufadl ehrrea fiuren qerh e 21 O oM. @@ Ul o, @ uvaE
block of length 22cm, breadth 18 cm, height 7cm is dropped then what is _ 22 ¥Rt ©id, 18 WA TR, 7 T T AN U Sk He A TR
increase in the level of water in tank? , a3 R arRe?

() 2 cm . 2) 3 cm (1) 2cm (2) 3 cm
(3) 3.5 cm (4) 2.5 cm ; “ (3) 3.5 cm 4 (4) 2.5 cm
L
60. In a circle with centre 0, chord of a circle is 30cm long, its distance from the | 60, Y ST TG 30 Ul @idi= S BETET 8 G SHaweR A W @ ATl
center is 8cm. Find the radius of the circle? _, o ferdt?
) ,‘
(3) 16 cm 4 12 cm (3) 16 cm 4) 12 cm
SPACE FOR ROUGH WORK FEAT HEE o
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61. A hall has length 28 meter and breadth 10.5 meter For mowazm this :m_._. mmsmﬂo 61, THI ﬁﬂ.ﬂﬂﬂw il 28 WX F ®F 10.5 e . @ dﬂuﬂm, e i Hiet
tiles are to cn.. used of half meter side then how many tiles are required . m:ﬂ FEOT A R A IS W W R R endie?
(1) 1180 (2) 1150 (@} 1158 2 TG
3) 1176 (4) 1126 (& L1170 s 12s
62. Add the polynomials 5x* — 2x and 2> — 7. What is the degree of the sum of | 62, 5x—2x SNV 20— 7 A agUEi=Al et wier fohdt?
these polynomials? )y 7 ) 4
Ly 7 ) 4 (3) 12 (CY
3) 12 4 @ 5 )
63, Wmlﬂ.wanm W ox= fH?
2 2
63. ﬁn%%g x =7 ) 4 @ 3
(1) 4 @ 3 A | 3) 2 @ 1
3) 2 4 1 v .
64, TH FHRIOTEN SF GRAHIAEl WY STIHET 60° @ 130° 3Ted. A & AR WhR
64. If the measures of two external angles of a triangle are 60° and 130° respectively, I 2
then which type of triangle is it? . (1) @gFA i
(1) Acute angled triangle - (2) TawmeErEE
(2) Obtuse angled triangle ; (3) HRHA R
(3) Right angled triangle (4) wmqst frRion
(4) Equilateral triangle
HAT RIMMEET o
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ar which he bought fo,
65. Rohit made a profit of 6 percent when he .mo_wuuwn_. selling the car? % = e . . s "
500,000 How much total money did Rohit & 65. WET 5 M TAm e w6 TEE 500000 fawe ar dfgaen fodt
w4 fazde

(1) Rs. 5,20,000
(1) 520000 7,

=
(2) Rs. 5,10,000 (2) 510000 =.

(3) Rs. 6,00,000 (3) 600000 7,
(4) Rs. 5,30,000 (4) 530000 7.
) : . triangle are 7cm and 24,. : . = 2 -
66. The length of perpendicular sides of a :m:fﬂ_mn_mg . " fem 66. UF! FIEI ARG Hrew wmemwan arg 7 AW A 24 Wi s, aw e freemen
= i . . .. circ . = N .
respectively, then find the radius of it's ci wfeadzedl famn a0
() 12.5 cm (2) 25 em (1) 12.5 T (2) 25 ¥t
(3) 12 cm (4) 6.5 cm (3) 12 7 (4) 6.5 #t
67. There is decrease in sale of object by 10% due to 50?.:,#.. in :._o cost of Object 67. TE fRwA 10% F A wed, T T 10% WY B WA m e o
by 10%, then what 3 the profit percent or loss percent in this transaction? D T Hro fd S
(1) 1% loss (2) 2% profit (1) 1% Hm (2) 2% =
(3) 3% loss (4) 1.75% profit (3) 3% B s
68. Yogesh deposited Rs. 32000 in a bank for two years on simple interest, After 68. T WEI 440 32000 ¥ Wz 2 At S T weEmAT T 38400
maturity he gets Rs. 38400, then what is the rate of interest? WA Y fume w omeen w faa wan

(1) 12 p.c.p.a (1) z3za 12
(2) TG 15
(3) =Y |8

(3) Zz@zA 10

(2) 15 p.cpa
(3) 18 p.c.pa
(4) 10 p.c.p.a

SPACE FOR ROUGH WORK T HTNTHTA
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: nts ow a class is give
69. In the following frequency distribution, height of 20 stude ) -

From the given data find the mean.

Height(cm) 160 161 162 163
Number of boys 4 6 5 5

(1) 160 cm (2) 161.55 cm
(3) 162.5 cm @) 161 cm

Question 70 and 71— The percentage production of crops jowar and wheat in four

villages is given in the following sub-divided bar graph. Observe the graph ang
solve the following questions.

.1. e == peas spmus mane:
S SHE4 AR maaiba ok st a s SESI : I #
22180 SIS o mmd v i Ba i _uaLHNLc»L'l

T Wheat T

|
|

v}
sad

T
4

70. The production of jowar in D village is more by how much than the village
B?

1) 10% 2) 20% .
(3) 60% 4) 80%
71. Find the ratio of wheat production of village A and village C.
() 6:5 : 2) 5:4
3 3:2 @ 2:3

. SPACE FOR ROUGH WORK

69, pﬁﬂimsm&ﬂ%mﬁzamﬂsd@m@ﬁ.ﬂﬂﬂ%nﬁﬂ

firt?

S (dmed) 160 161 162 163
o we 4 6 5 5

(1) 160 == (2) 161.55 @
(3) 162.5 ot : 4) 161 w=t

nﬁqomjﬂ_ﬁlﬂz%.ﬂawﬂﬂ_q@_ﬂmﬂ%%d@d
TWACEER Waeh R, @R fiew we1 @ s IR

o ]
e (1A= 20% L ]
e R S B R 7 pa

3] BB i G v ol R W L

i

r2ass punndau:

70. D TEMS Y IO B MGMS vENwA SR fRAY S am?

(1) 10% (2) 20%

(3) 60% 4 80%
3.>§dﬂ1aﬂ§mn:ﬁ%@a&ﬂwﬂﬂuu@q§ﬁiu

(1 6:5 @ 5:4

(3) 3:2 . @ 2:3
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16
complete square? [choose two correct option]

o 3 ¥ - . following to make
72. Which term should be added to 100x° +2— from the following ke

728 W Pl @ grrmE wm qdets wen gr faaa;

(%1 3% watn faam)

Scanned with CamScanner

(1) +5xy 2) -Sxy
( : (1) +5xy (2) ~5xy
25x 25
3 — —==xy , ‘
T @ -7 3 2 @ -2y
4y 4
73. 1f 18 labours take 15 days ; e ik, then how many days will :
§ s take 15 days to complete one task, then ho . . i
73, 18 WA wM w15 fean @ @9 F o6 it faamma
6 labours need 1o complete the same task? . o R Pl i
Hdres?
(1) 3 days 2) 90 days
’ @ Y (1) 3 feaam (2) 90 fzamm
:Av 5 _n § & avys P
A el (4) 43 days (3) 5 feamma (4) 45 faamm

74. From the following, select the factors of polynomial (2x = 3)* + 125 . .
74, (2c-3)* 4 125 4 AEYAIA AAGd GElATH] w17

) 2 2
(D 2 (v + 1) (4x% - 22x + 49) () 2 (e + 1) (4e — 22¢ + 49)

(@) (v + 1) (42 - 22x + 49) (2) (x+ 1) (432 - 22x + 49)

(3 2 (= 1) (422 - 22x + 49) (3) 2 (x = 1) (4x% - 22x + 49)

@ (= 1) (@2 - 22x + 49) (@) (x = 1) (4x% — 22x + 49)

0.036 235 | 0036 235 1 .
—_—= S——— -_= ] ?
15 3% “Fre *e=? 75 06 Xo0s X5 T
(1) 0.547 @ 5 (1) 0.547 (2) s
(3) 0.47 (4) 5.47 (3) 0.47 , (4) 5.47
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